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0 Christmas Addition or Subtraction

Solve the following word problems.

Santa Claus has 8562 candies. He gave 4231
candies to the elves. How many candies does
Santa have now?

Mrs. Claus baked 2456 gingerbread cookies. She
baked 1789 more gingerbread cookies the next
day. How many gingerbread cookies did Mrs. Claus
bake in total?

There are 6754 ornaments on the Christmas tree.
3126 of them are red and the rest are gold. How
many gold ornaments are there on the tree?

Santa's sleigh can hold 9000 presents. He has
already loaded 5678 presents. How many more
presents can Santa load into his sleigh?

Rudolph has 7896 jingle bells. He gave 4567 jingle
bells to his friends. How many jingle bells does
Rudolph have now?

There are 5000 Christmas lights on the main street.
The city council decided to add 3999 more lights.
How many Christmas lights are there on the main
street now?

7 The Christmas market sold 3456 Christmas trees on
the first day and 2345 trees on the second day.

iow many trees did they sell in total?
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